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MANAGEMENT

Paper - 11

Note : This paper contains hundred (100) objective type questions. Each question carries
two (2) marks. All questions are compulsory.

1. Which of the following is not one of the 4. Assertion (A) : Low initial price is

contents of organizing ?

(A) The Development of Leadership

(B) The identification and classification
of required activities

(C) The grouping of activities necessary
to attain objectives

(D) The assignment of each group
to a manager with the authority
necessary to supervise it

. One of the following is not an advantage

of matrix organization grouping

(A) Oriented towards end results

(B) Professional identification is
maintained

(C) Pin point product-profit
responsibility

(D) Places responsibility at a lower
level

. The clearer the line of authority from
the ultimate management position in an
Enterprise to every subordinate position,
the clearer will be the responsibility for
decision making and the more effective
the organizational communication, is
expected by

(A) Scalar Principle

(B) Peter’s Principle

(C) Murphy’s Principle

(D) Unity of Command Principle

K -1020

regarded as the principal means for
entering into mass market for some new

product.

Reason (R) : Firms generally enter into

production of new products with excess

capacity of the plant initially.

Codes :

(A) (A) is correct but (R) 1s wrong

(B) (A) is wrong but (R) is correct

(C) (A) and (R) both are correct and (R)
is right explanation of (A)

(D) (A) and (R) both are correct but (R)
is not right explanation of (A)

. Deontological theory of ethics is concerned

with which of the following ?
I. Duty ethics

II. Obligation ethics

III. Rule based ethics

IV. Classical ethics

Codes :

(A) III and II
(B) I'and III
(C) Tand IV
(D) I, IT and III
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6. Assertion (A) : Ridge lines in isoquant
map set the limits for the positive
productivity of the respective inputs
used in the production process.

Reason (R) : Isoquants will slope
positively if the use of an input is
increased beyond the limit set by the
ridge lines.

Codes :

(A) Both (A) and (R) are correct and (R)
is correct explanation of (A)

(B) Both (A) and (R) are correct but (R )
is not correct explanation of (A)

(C) (A) is correct but (R) 1s wrong
(D) (A) is wrong but (R) is correct

7. Match the following :

List -1 List — 11
a. GDP 1. National income
b. GDP at factor 2. NDP plus net flow
cost of income from
abroad
c. NNP at factor 3. Money value of
cost goods and services
produced
d. NNP 4. Total gross value
added by all
enterprises in the
economy
Codes :
a b c d
A 1 3 2 4
B) 3 4 1 2
<o 3 4 2 1
(D) 1 4 3 2
K -1020

Total Number of Pages : 40

8. Which among the following are also called
Corporate Social Responsibility ?

I. Corporate Conscience
II. Corporate Citizenship
III. Responsive Business

Codes :

(A) I'and IT
(B) I, II and III
(C) I'and III
(D) II and III

9. Match the following :

List—1 List— II

(CSR Models) (Emphasis)

a. Ethical Model 1. Corporate
responsibility

limited to

private owners

b. Statist Model 2. Voluntary
Committment by
Companies
to Public Welfare

c. Liberal Model 3. State ownership
and legal
requirements
determine
Corporate
responsibilities

d. Stakeholder 4. Companies

model respond to the
need of
customers,
community etc.

Codes :

(A)
(B)
(©)
(D)

— NN N
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10. The barrier resulting in the symbolic

11.

12.

K-

obstacles that distorts the sent message
in some other way than intended is

(A) Psychological barrier
(B) Physical barrier
(C) Semantic barrier

(D) Cognitive barrier

Assertion (A) : Modeled behavior
is not a powerful learning tool for
employees.

Reason (R) : Individuals learn

vicariously by observing others behavior

and patterning their own behavior

similarly.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) (A) and (R) are true but (R) is not
the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Which of the following is not trait of

Type ‘A’ Personality (D) ?

(A) Strive to think or do two or more
things at once

(B) Can relax without guilt

(C) Are obsesses with measuring their
success in terms of how many or how
much of everything they acquire

(D) Are always moving walking and

eating rapidly
1020
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13. Identify the correct recruitment process

14.

15.

16.

flow :

1. Generate applicant pool
ii. Evaluate
iii. Job analysis

iv. Offer

Codes :

(A 1 i i v

B) 1 iii i v

©) m 1 i v

D) 1 i v iii

The process of rewarding employees

by giving them part ownership in the
company, which further enhances their
performance is called

(A) High flyer scheme

(B) Golden parachute scheme

(C) Employee stock option scheme
(D) Retention planning scheme

Cognitive Dissonance theory is a
(A) Value theory

(B) Learning theory

(C) Consistency theory

(D) Critical theory

Whenever Parlor fed his dogs with meat,
he rang a bell. The dogs salivated to the
ringing of the bell. The ringing of the
bell is

(A) an unconditioned response
(B) an unconditioned stimulus
(C) a conditioned response
(D) a conditioned stimulus

Paper 11
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17. Match the following :

List -1

(Terminology)
a. HR Philosophy 1. Over arching

b. HR Practice

c. HR Policy

d. HR Strategy

Codes :

a

A 1

B) 2

<© 1

D) 2
K-1020

A A - L T

2.

3.

4,

List — 11
(Explanation)

values and guiding
principles adopted
in managing
people

Defining the
direction in
which HRM
intends to go

Guidelines
defining how
the values,
principles and
strategies should
be applied and
implemented in
specific areas of
Human resource
management

Informal
approaches used
in managing
people

—_— W W N A
(USTN O R N N = ¥

18. Match the following :
List - I
(Ego State)
a. Parent
b. Adult
c. Child

Codes :

(A)
(B)
(®)
(D)

a
2
3
2
3

w N =

[E—
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List - 11
(Version of Life)

1. Felt Concept
2. Taught Concept
3. Thought Concept

19. Assertion (A) : Job design involves

conscious effort to organize tasks, duties

and responsibilities into a unit of work to

achieve certain objectives.

Reason (R) : Job allocation is the

foundation of organisational productivity

and employee satisfaction or lack thereof.

Codes :
(A) (A) and (R) are true and (R) is the

correct explanation of (A)

(B) (A) and (R) are true but (R )is not

the correct explanation of (A)

(C) (A)is true and (R) is false
(D) (A) is false but (R) is true
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20. Generalisation about a group of people is

21.

22,

K-

(A) Social Perception

(B) Contrasting

(C) Projection

(D) Stereotyping

Read the passage below and answer the
questions from 21 to 25 :

Rajat and Ramya work in the Research
and Development department at Infosys.
It is known that an important moderator
of the satisfaction-turnover relationship
is the employee’s level of performance.
Specifically, level of satisfaction is less
important in predicting turn-over for
superior performers. Rajat is a high
performer and the organization has
considered him for pay rise and other
forms of motivation. His capabilities are
assessed for promotion. Just the opposite
applies to Ramya who is a poor performer.
No attempt is made by her to improvise. In
fact, there were even instances of subtle
pressures to encourage her to quit in the
past.

The process of evaluating Rajat and
Ramya’s current performance is called
(A) Team appraisal

(B) Performance appraisal

(C) Grievance appraisal

(D) Potential appraisal

In the event of Ramya’s resignation the
process of having a discussion with her
is called

(A) Counselling

(B) Unstructured Interview

(C) Exit Interview

(D) Employee Interview
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23. The method of assessing Rajat’s

24.

25.

26.

capability for future prospects in his
job is called

(A) Assessment centre approach
(B) Potential appraisal

(C) Performance appraisal

(D) 360 degree appraisal

A method which duplicates on-the-job
situation away from the actual worksite
with machinery and equipment similar
to those used in the actual production or
operation and used to help employees
acquire a new skill is

(A) Job instruction training
(B) Training centre training
(C) Apprenticeship

(D) Vestibule training

What is not a method used in combination
for competency mapping ?

(A) Interviews

(B) Induction

(C) Task analysis workshop

(D) Use of job description

What is the correct sequence of steps in an
Organisation Development Process ?

I. Evaluation of the effects of
intervention

II. Diagnosis of the state of organisation

III. Introduce new interventions as
needed

Use interventions to correct problems
and realise opportunities

Codes :

(A) IOI, 1V, I, I

(B) 11, 11, IV, 1

©) 11, 1Iv, I, 1II

(D) IIL L, IV, I

IV.
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27.

28.

K-

Match the following :
List -1
(Maslow’s
hierarchy of needs)

List — 11
(Engagement

levels)
a. Self-actualization 1. Not engaged
b. Recognition 2. Almost engaged

c. Belongingness 3. Disengaged

d. Security 4. Highly engaged
e. Survival 5. Engaged
Codes :
a b c d e
(A) 3 5 4 2 1
B) 4 3 5 2 1
<) 4 5 2 I 3
(D) 1 2 3 4 5
Match the following :
List -1 List — 11
(OD Interventions) (Technique)
a. Structural 1. Organizational
interventions Mirroring
b. Comprehensive 2. Process
OD interventions Consultation
c. Team 3. TQM
interventions
d. Intergroup 4. Confrontation
interventions meeting
Codes :
a b c d
(A) 1 3 4 2
B) 3 4 2 1
< 2 3 1 4
(D) 3 2 4 1
1020
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29.

30.

31.

Total Number of Pages : 40

As per the ILO classification which of
the following labour welfare benefits are
extra-mural ?

I. Canteen
II. Uniforms and Protective clothing
III. Housing facilities
IV. Leave travel facilities
V. Vocational training
Codes :
(A) I, II, 1II
(B) 11, III, V
O L 11, IV
(D) 11, 1V, V

In International Human Resource
Management, geocentric organisations
are staffed with

(A) Home Country Managers

(B) The best people where they can be
utilised the best

(C) Host Country Managers

(D) Managers from nations within the
region

Assertion (A) : Personal transactions
of the owners of the business are not
recorded in the books.

Reason (R) : According to the business
entity concept, each business enterprise
is considered as an accounting unit
separate from owners.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) (A)is true but (R) is false

(D) (A) is false but (R) is true
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32.

33.

34.

3S.

K-

What would be the holding period, if the
turnover ratio is four times the stock ?
(A) 4 months (B) 3 months

(C) 2 months (D) 8 months

Break-even is not affected with changes in
(A) Sales price per unit

(B) Variable cost per unit

(C) Total fixed cost

(D) Number of units sold

Match the following and suggest correct
codes.
List -1 List — II
a. Working capital 1. Making new
finance estimates

b. Net Income 2. Liquidity

Approach analysis
c. Zerobase 3. Letter of credit
budgeting
d. Acid test ratio 4. Capital
structure
Codes :
a b c d
A 1 2 3 4
B) 3 4 1 2
<C 2 3 4 1
D) 3 2 4 1

According to Net Operating Income
(NOI) approach, with increase in Debt/
Equity ratio the financial risk of the
equity holders

(A) Decreases

(B) Increases

(C) No change

(D) Dependends on degree of
leverage
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36.

37.

38.

Total Number of Pages : 40

A firm’s goal of wealth maximization
does not take into consideration

(A) Risk related to uncertainty of
returns

(B) Timings of expected returns
(C) Earning per share in short run
(D) Amount of returns expected

Match the following and suggest the
correct codes.

List - I List — II
a. Buy back of shares 1. Operating
activity

b. Interest received 2. Financing

on long term activity
investment
c. Cash payment 3. Business
of suppliers activity
d. Purchase and 4. Investing
sale of goods activity
Codes :
a b c d
(A) 1 2 3 4
B) 2 3 4 1
< 2 4 1 3
(D) 1 3 4 2
Which one of the following are correct ?

I. Trade credit is a spontaneous source
of financing

There is no cost of trade credit

Factoring with recourse is off Balance
Sheet financing

II.
I

IV. Factoring involves the outright sale
of receivables at discount to factor for
obtaining funds

Codes :

A I I I 1v

B)I I 1v

O o I1v

MD)yI I III
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39.

40.

41.

K-

Assertion (A) : A high operating ratio
indicates favourable position for a
company.

Reason (R) : A high operating ratio
leaves a high margin to meet non
operating expenses.

Codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is
not the correct explanation of (A)

(C) Both (A) and (R) are false

(D) (A) is true (R) is false

From the following data calculate Break-
even expressed in terms of amount of

sale.
Sales Price (per unit) Rs. 20

Variable manufacturing cost

per unit Rs. 11
Variable selling cost per unit Rs. 3

Fixed factory overheads  5,40,000
(per year)

Fixed selling cost (per year) 2,52,000
(A) Rs. 24,50,000

(B) Rs. 25,00,000

(C) Rs. 26,40,000

(D) Rs. 25,25,000

When the required rate of return is
greater than the coupon rate bond will
be valued at

(A) Discount
(B) Premium
(C) Par value
(D) Required Rate
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Arrange the steps in dividend payment
procedure in sequence.

I. Shareholders approval
II. Record date

III. Board’s approval

IV. Dividend payment

V. Transfer to unpaid dividend
account

Codes :

A)IVv. v 11 1 1O

B 1 I m iiv v

om 1 o Iv v

M IVV 1 1

Which of the following statements are
correct ?

1. Book value is the total value of all
valuable assets including ficticious
assets less external liabilities.

II. Discounted cash flow approach of
valuation of business is superior
to the P/E ratio approach when
earnings are predictable.

III. Unpaid dividends on preference

shares are reckoned liability of the

firm in asset based valuation.

IV. For business valuation adjustments
are required for contingent liabilities

that may fructify.

Codes :

(A) T 11 1

B) I o 1Iv

O 1 I 1v

M) T 11 1 1v
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44.

45.

K-

Match the following and suggest the
correct codes.

List -1 List — IT
a. NPV >0 1. Reject the
proposal

b. IRR < Cut off rate 2. Cost reduction
investment
proposals

with unequal
lines

c. Equivalent annual 3. Project

cost selection under
capital
rationing
d. Present value 4. Accept the
Index proposal
Codes :
a b c d
(A) 4 1 2 3
B) 1 2 3 4
©) 4 3 2 1
(D) 3 2 1 4

Profitability from an investment in a
country is adversely affected if the

currency of that country is subject to
(A) Appreciation

(B) Depreciation

(C) Demonetization

(D) No change
1020
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46.

47.

48.

Total Number of Pages : 40

‘A’ firm acquires another firm ‘B’ for
a Market Price per Share (MPS) of
Rs. 20 and its EPS is Rs. 5. For an
exchange ratio of 1.5 : 1, what was the
P/E ratio used in acquiring firm ‘B’ ?
(A) 4 (B) 5

) 6 (D) 2.67

Which one of the following statements
are correct ?
I. Higher net working capital leads
to higher liquidity and higher
profitability.

II. Trade-off plan, in general, is
considered an appropriate financing
strategy for working capital.

III. Conservative approach warrants that
long-term funds should be used to
finance the permanent.

IV. There is a positive correlation
between level of business activity
and working capital needs of the
firm.

Codes :

(A)I I

(B) II 1II

o oI

(D) 1II 1V

Under what condition is the Walter

model similar to MM hypothesis with
regards to payment of dividends ?

(A) r>k (B) r<k
(C) r=k MD)r=k=1
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49.

50.

S1.

52.

K-

Approvals for short term foreign
currency loans with a maturity of less
than three years are given by

(A) Department of Economic Affairs
(B) Reserve Bank of India

(C) Ministry of Finance

(D) Foreign Minister

Which one of the following is not a
source of Working Capital Financing ?

(A) Factoring

(B) Commercial papers
(C) Trade credit

(D) Bonds

The act of designing a Company’s
offering and image to occupy a distinctive
place in the minds of a target market

(A) Branding
(B) Positioning
(C) Targeting
(D) Advertising

Strategies for achieving growth through
intensification are

(A) Marketskimming, Market Awareness
and Product development

(B) Market penetration, Market development
and Product development

(C) Market penetration, Market development
and Customer Relationship Marketing

(D) Market Skimming, Niche Marketing
and Product development

1020
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53.

54.

5S.

Total Number of Pages : 40

The process of marketing a product with
little change such as modified packaging
and labelling is

(A) Product Invention

(B) Product Adaptation

(C) Product Standardization
(D) Product Launch

Which among the following are common
pricing methods followed ?

I. Cost plus pricing
II. Going rate pricing
III. Perceived value pricing

IV. Personalized pricing

Codes :

(AT 1o 1v
B) I 11 1V
O1 I 1
I I 1V

Which among the following are elements

of communication mix ?
I. Advertising
II. Personal selling

II. Publicity

IV. Pricing
Codes :

A)I 1II 1V
B)I I II
O©) o mar v
(Mb)y1 1 1
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56. FINTTI), TROLAD

57.

=3 -1 zes -~ 11
(BFSann 3e3) (2038 SNF)
a. 8%, A0 1. yu&FTO00 ATIONED
w = Q
(T0e))

b. Q7T A0 2. 19,TF FTTONED

C. 3%, T,R¢3 3. BPeodd BTBOMLD
L) @

d. dzoznécdd>  4.FMCG
%,5%¢3
ToFESNED ¢
a b c d
(A 1 2 3 4
(B) 4 3 2 1
<) 3 4 2 1
(D) 2 1 4 3
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zes -~ 1 =3~ 11

(Rpeedrofosns (S99, dRNE [SRWO)

ATINT, B0, NE0)

a. wasaesmﬁdsa 1. m:%ﬁ maom%o3

b. 3503 S0, 2. vV, AW
C. ORI M 3. ), TT 85 e0ddZ
ToFCSNSD ¢
a b c
(A) 2 1 3
B) 1 2 3
© 3 2 1
(D) 3 1 2
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(C) (A) Fo0cIRNS (R) BTN

(D) (R) Roc3mNas (A) BN

59. 39N 02, WONRYRINT BOSFIY, TRT

3, BRBONSDY, 3, BIRRPRO.

i. oI S0g, |

ii. 3908, O3 CINMED 30T O3
iii. SBU rooned (emcieémfo)

iv. SBU 8 SWOT Q3 e

V. 2R0NRRYRONT

vi. [P, €8Tea T VO30T, €9
ToBeSN ¢
(A) i, iii, iv, ii,
(B) 1, ii, iii, iv, v, Vi
(©) ii, iii, iv, v, vi, i
(D) iii, ii, i, iv, v, vi
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56.

Match the following :

List -1
(Pricing Strategy)
a. Rapid skimming

List — IT
(Product Category)
1. Industrial
goods
(Innovative)
b. Slow skimming 2. Consumer

goods

c. Rapid Penetration 3. Local goods
d. Slow Penetration 4. FMCG

Codes :

a b C d
(A 1 2 3 4
(B) 4 3 2 1
< 3 4 2 1
D) 2 1 4 3
57. Match the following :
List - I List - IT

(Porter’s Generic) (Value Disciplines

Strategy) Model)

a. Differentiation 1. Product
leadership

b. Cost leadership 2. Operation
Excellence

c. Focus 3. Customer
Intimacy

Codes :

a b C

(A) 2 1 3

B) 1 2 3

) 3 2 1

D) 3 1 2

K-1020
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58.

59.

Total Number of Pages : 40

Assertion (A) : Vertical integration is

considered as a generic strategy because

the firms operations are expanded

beyond primary business

Reasoning (R) : Vertical integration is

the mixed empirical result to ascertain

whether strategy help or hinders the

performance.

Codes :

(A) (A) and (R) are correct, (R) is not
the explanation of (A)

(B) (A)and (R) are correct, (R) is correct
explanation of (A)

(C) (A)is correct (R) is wrong

(D) (R) is correct (A) is wrong

Arrange the following strategy
implementation steps in the proper

sequence.
1. Corporate strategy

ii. Strategic alternatives and choice

SBU objectives

SWOT analysis of SBU

iil.
iv.

v. Implementation

vi. Evaluation and control
Codes :

(A) 1, i1, iv, 1, v, vi
B) i, i, iii, iv, v, vi
(C) 11, i, 1v, v, vi, i
(D) 1, 1, 1, iv, v, Vi
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62.

TOODFIOE, 03ReRTOR FINT BOSRYIY
WINRFITT. FOCINT T,BIRTNSC0Y,
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SR

1. QxS drexd

ii. %wmd 030
ill. 30T 3w
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(A) I, T, TV
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(C) 1, I, I

ML, 1, IV
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I. mo,&% ©08T

II. 8¢0xm9F 2030
III. 2083z59% 03T
IV. Fo==s 030
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(A) 1,

II, III

(B) 1, I, IV
(C) 1, I, TV
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60.

61.

62.

K-

Strategic planning involves the following
steps. Arrange them in the proper

sequence.
1. Division planning
ii. Business planning
iii. Corporate planning
iv. Product planning

Codes :

(A) 1, ii, iil, 1iv

(B) iii, 1, 1ii, iv

(C) ii, iii, 1iv, i

(D) i, iv, iii, ii

Integration of key business processes
from the end user through suppliers
that provides products, services and
information that add value to customers

1s referred to as

(A) Customer Relationship Management
(B) Materials Management

(C) Supply Chain Management

(D) Customer Value

USP stands for

(A) Unique Selling Point

(B) Unique Selling Preposition
(C) Unique Sales Point

(D) Unique Sales Preposition
1020
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63.

64.

Total Number of Pages : 40

Which of the following three are the

forms of retail ownership ?
I. Independent retailer
II. Corporate chain

III. Contractual systems

IV. Community shopping center

Codes :

(A) II, I, IV

B) I, I, IV

O I, I, I

D) I, I, 1V

Select the service quality gaps which

occur at the end of service provider.
I. Customer gap

II. Knowledge gap

III. Delivery gap

IV. Communication gap

Codes :
(A) I, II, III
B) I, II, IV

(C) 11, I, 1v
(D) T and III only
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67.

68.

69.
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65. Match the following :

List -1 List — IT
(Service Quality) (Explanation)
a. Reliability 1. Physical

facilities

b. Responsiveness 2. Dependability

c. Assurance 3. Willingness to

help
d. Tangibles 4. Knowledge
Codes :
a b c d
(A) 1 2 3 4
B) 2 3 4 1
<) 3 4 | )
(D) 4 1 2 3
66. Match the following :
List - I List — 11
(Types of (Scope)
Organisations)
a. Transnational 1. Operations in
Corporation multiple
countries
b. Multinational 2. International
Corporation trade
c. Multinational 3. Across
Enterprise National
borders
d. Global 4. Business in
Corporation the World
Codes :
a b c d
(A 1 2 3 4
B) 3 1 2 4
< 3 2 1 4
(D) 2 1 4 3
K -1020
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67. Assertion (A) : Dumping is an ‘unfair’

trade practice in international trade.
Reasoning (R) : Dumping provides
price benefit to the exporter with an
injuring effect.
(A) (A) is correct and (R) is wrong
(B) (A) 1s correct and (R) is correct
(C) (A)is wrong and (R) is correct
(D) Both (A) and (R) are wrong

68. Assertion (A) : CRM enables companies
to provide excellent real-time customer
service through the effective use of
individual information.

Reasoning (R) : Based on market-survey,
companies customize market offering,
services, programs and messages.

(A) (A) is correct, (R) is wrong
(B) (A) is wrong, (R) is correct
(C) Both (A) and (R) are correct
(D) Both (A) and (R) are wrong

69. Brand awareness involves the following
steps. Arrange them in the proper
sequence.

1. Brand recognition
1. Non-recognition

iii. Brand insistence

iv. Brand preference
v. Brand loyalty
(A) 1, ii, iii, iv, v
(B) ii, iii, iv, i, Vv
(O) iii, v, 1, ii, Vv
(D) ii, i, iv, iii, v
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70. Arrange the stages of consumer buying

71.

72.

73.

K-

behaviour in proper sequence.
1. Search for information
1. Need recognition
iii. Purchase decision
iv. Evaluating alternatives
v. Post-purchase evaluation
(A) iii, iv, i, ii, v
B) ii, i, iv, iii, v
O 1, ii, iit, iv, v
(D) iv, iii, v, ii, i
While preparing questions for a

questionnaire, any question tends to
have more than one answer is called as

(A) Ambiguous question
(B) Double barreled question
(C) Positive question

(D) Negative question

The value of Mean Deviation about mean
for the numbers 5, 8, 6, 3 and 4 is

(A) 5.20
(B) 7.20
(C) 1.44
(D) 2.23

In a Poisson’s distribution
(A) Variance = %2 Mean
(B) Variance = 3 Mean
(C) 3 Variance = Mean

(D) Variance = Mean

1020

29

Total Number of Pages : 40

74. The arrival is at the rate of 30/hour and

service capacity is in the rate of 40/hour
in a single server Model. The Idle time

factor is
(A) 0.25
(B) 0.75
(©) 10

(D) 1.25

75. The Mean and Variance of Chi-square (%)

distribution are

(A) p=vand g*=2v
(B) u=2vando’=v
(C) u=vando’*='2v

(D) u=Y2vandc®*=v

76. The life time of 16 sample battanes

is found to be 85 hours with standard
deviation of 4 hours. The Company
claims that the average meanlife is
75 hours. While testing the hypothesis,

the test statistic value is obtained as
*)

(B) 100

(C) 0.1

(D) 10
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78. FENITTIY, BROVAD

wed — 1 =ed — 11
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ToFeSNLD :
a b C d
(A 4 3 1 2
B) 2 3 4 1
<o 1 2 3 4
(D) 2 1 4 3

Paper 11

30

Total Number of Pages : 40

79. T3, 036emt Seained (G i O 3)
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AM 2zon08 s
(A) 00204
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C) 20204

(D) 4 332
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(A) ILO

(B) ébzzs 239, 05°
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78.

K-

The AM and GM of two observations are
5 and 4 respectively. The two numbers
are

(A) 10and 8 (B) 4and 2
(C) 8and 2 (D) 2.5and 2
Match the following :
List -1 List — II
a. DMAIC 1. Computerized
Methodology short term
scheduling
with graphical
interactive
computing
b. CRAFT program 2. Integrated
database
oriented

resource plan

c. Finite Capacity 3. Assists in
Schedule examining
alternative
departmental
layout
decision
making
d. ERP 4. Six-sigma
process
Codes :
a b c d
(A) 4 3 1 2
B) 2 3 4 1
<o 1 2 3 4
(D) 2 1 -+ 3
1020
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80.
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Given that lines of regressions are
7x =3y —-18=0and4x -y -11=0
respectively, the AM of x and y are

(A) Oand 4
(B) 3and 1
(C) 2and 4
(D) 4and 2

Suppose that 10% of the engines produced
requires a warranty replacement and if
a lot of 100 engines were produced,
the mean and standard deviation of the

defect level are

(A) p =9and 6 =10
(B) p=3and o =10
(C) p=10andc =3

(D) p=10and =9

The Global Financial stability report
and world economic outlook are the two

reports given by

(A) ILO

(B) World Bank

(C) Asian Development Bank

(D) IMF
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82. Which of the following barriers can be

83.

84.

K-

used against recession induced exports

into the country ?

(A) Voluntary export restraint
(B) Quotas

(C) Non-tariff

(D) Tariff

The portion of the required quota
of currency that each International
Monetary Fund member country must
provide to the IMF that can be utilized
for its own purposes without a service
fee is called as

(A) Reserve Tranche Position
(B) Fund Position
(C) Reserve Fund Position

(D) Payment Position

Arrange the following according to
processing or manufacturing of goods
for export.

1. Pre-shipment Inspection
ii. Goods Manufacturing
ii1. Central Excise Clearance
iv. Packaging, Marking and dispatching
Codes :
(A) i ii il iv
(B) iii i i iv

(C) 1 il 1 1v
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85. The theory that advocates a country that

86.

is relatively labour abundant should
specialize in production and export of
that product which is relatively labour

intensive is

(A) Theory of Absolute Advantage
(B) Theory of Factor Proportion

(C) Theory of Comparative Advantage

(D) Product Cycle Theory

Assertion (A) : Decision Support
System (DSS) supports non-routine

decision making for Managers.

Reasoning (R) : DSS focuses on
problems that are unique and rapidly
changing for which the procedure for
arriving at a solution may not be fully

pre-defined in advance.

Codes :

(A) (A) is correct but (R) 1s wrong
(B) (A) is wrong but (R) is correct
(C) (A) and (R) both wrong

(D) (A) and (R) both correct
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The analysis that uses data mining
techniques, historical data and
assumptions about future conditions to
know the outcomes of events related to
consumer behavior is called as

(A) Data Management
(B) Predictive Analysis
(C) Data Cleansing

(D) Data Normalization

The Knowledge Management System
(KMS) involves the following sequential
activities of knowledge

(A) Acquisition, Storage, Dissemination
Application

(B) Storage, Acquisition, Dissemination,
Application

(C) Application, Acquisition,
Dissemination, Storage

(D) Dissemination, Acquisition, Storage,
Application

The specialized system that provides a
group electronic environment in which
managers and teams can collectively
make decisions and design solution
for unstructured and semi-structured
problems is

(A) DSS
(B) GDSS
(C) MIS
(D) ESS
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90. Which of the following is not true about

Data mining ?

(A) Itisthe process of finding anomalies
and correlations within large sets of

data to predict outcomes

(B) It is the extraction of patterns and
knowledge from large amounts of
data

(C) Itinvolves high velocity, variety of

wide data and large volumes

(D) Itenables market analysis and fraud

detection

91. Entrepreneurial process consists of the

following steps : Indicate the correct

sequence.

1. Management of the resulting

experience

ii. Determination of the required

resources

iii. Identification and evaluation of the

opportunity

iv. Development of the business plan
Codes :

(A) iii, iv, i, ii

(B) iv, i, iii, ii
(C) iii, iv, ii, i
(D) iv, i, ii, iii
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92. An Entrepreneur who is neither willing

93.

9.

K-

to introduce new changes nor willing to

adopt new methods is known as
(A) Adoptive Entrepreneur

(B) Fabian Entrepreneur

(C) Innovative Entrepreneur

(D) Drone Entrepreneur

Which one of the followingidea generation
methods focuses on developing new idea
when the individuals are unaware of the

problem ?

(A) Gordon Method

(B) Checklist Method

(C) Creative problem solving

(D) Brain storming

Activities of SISI (Small Industrial

Service Institute) are
I. Assistance/Consultancy to
prospective Entrepreneurs

II. Assistance/Consultancy to existing

units

III. Assistance/Consultancy and

incentives to existing units
(A)
(B) only II
(C) I'and IT
(D) II and 11T
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: The function of
Entrepreneurs is to reform or revolutionize
the pattern of production by exploiting an
invention or move generally an untried
technological possibility for producing a
new commodity or produce old one in a
new way.

Reason (R) : Lack of innovations will

usually reduce the life span of a product

or service.

Codes :

(A) (A) and (R) both are correct and
(R) is correct explanation of (A)

(B) (A) and (R) both are correct but
(R) is not the correct explanation of (A)

(C) (A) is correct but (R) 1s wrong

(D) (R) is correct but (A) is wrong

Assertion (A) : In an industrial structure
the acquisition of an existing firm in
the industry might be a better more
than starting up a new venture.
Reason (R) : There is an evidence
that internal development might be
preferable to acquisition because
of differences between culture and
shared values.

Codes :

(A) Both (A) and (R) are correct and
(R) 1s correct explanation of (A)

(B) Both (A) and (R) are correct but
(R) 1s not the correct explanation
of (A)

(C) (A) is correct but (R) is wrong

(D) (R) is correct but (A) is wrong
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97. Match the following :

List -1 List - 11
(Type of (Attribute)
Entrepreneurs)
a. Fabian 1. Industry
Entrepreneurs Leaders
b. Drone 2. Found in the
Entrepreneurs places where
there is a lack
of resources
c. Imitating 3. Reluctant to
Entrepreneurs change
d. Innovative 4. Skeptical
Entrepreneurs about the
changes to be
made in the
organization
Codes :
a b c d
(A) 4 3 2 1
B) 4 2 3 1
<) 3 2 4 1
(D) 1 2 4 3
98. Who among the following are

associated with the concept of
“Entrepreneurship” ?

I. Richard Cantillon
II. Lionel Robbins
III. Adam Smith
IV. Jean Baptiste Say
V. Joseph Schumpeter
Codes :
(A) I, II, III and IV
(B) II, III, IV and V
(O I, I, IV and V
D) L, II, IV and V
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99. Match the following :
List -1 List - 11
(Theory) (Proposed by)

a. Entrepreneurship 1. A. D. Chandler Jr.
and Dynamic

Capitalism
b. The Affluent 2. J. K. Galbraith
Society
c. Theory of 3. Joseph
Economic Schumpeter
Development
d. The Dynamics 4. B.A. Kirchoff
of Industrial
Capitalism
Codes :
a b c d
(A) 1 3 2 4
B) 1 2 3 4
C) 4 3 2 1
(D) 4 2 3 1
100. Match the following :
List -1 List — IT
(Fund) (Emphasis)

a. Venture Capital 1. Emphasises
on Corporate

Governance

2. Issue of
Securities to a
select group
of persons not
exceeding 49

c. Private placement 3. Emphasises
on Management

b. Private equity

capability
Codes :
a b c
A 1 2 3
B) 2 3 1
< 3 1 2
D) 1 3 2
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